MaccuBbl B JavaScript
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ObpalleHune K arnemMeHTam

var arr = [1, 3, 5, 7, 9];
alert(arr[0]); // 1
alert(arr[4]); // 9
alert(arr[5]); //undefined

for(var i = 0; i < arr.length; i++)

{

alert(arr[i]) ;

}



IamMeHeHne OnnHbl MaccuBea

var arr = [1, 2, 3, 4, 5, 6, 7, 8, 9];
arr.length = 2;
//arr == [1, 2]
arr.length = 5;

//arr == [1l, 2, undefined, undefined, undefined]



N3mMeHeHne 3anemMmeHToOB MaccuBa

var arr = [1,2,3];

arr[l] = 100; // arr == [1, 100, 3]
arr[2] = 1000; // arr == [1, 100, 1000]
arr[0] = 10; // arr == [10, 100, 1000]

arr[3] = 10000;
// arr = [10, 100, 1000, 10000]



«PBaHble» MaCCUBbI

var arr = [1, 2];

arr[2] = 3; // arr == [1, 2, 3]

arr[4] = 5; //arr == [1, 2, 3,
undefined, 5]

arr([7] = 8;

/*arr == [1, 2, 3, undefined, 5,

undefined, undefined, 8]

*/



OTcyTCTBME CTPOron TMnNu3aumn
ONEMEHTOB

var arr = [1, “Hello”, 56, 89.9, null];

alert (arr[0]); //1
alert(arr[l]); //Hello
alert(arr[2]); //56
alert(arr[3]); //89.9
alert (arr([4]); //null



«MHoromepHble» MacCUBbI

var mda = [ [1, 2, 3], [4, 5, 6], [7, 8, 9] 1;
alert(mda[0]); // 1,2,3

alert(mda[l]); // 4,5,6
alert(mda[2]1); // 7,8,9

alert(mda[0][0]); // 1
alert(mda[l][2]); // 6
alert(mda[2][0]); // 7



[lobaBneHne anemMeHToB

var a = [“one”, “two”];
var newlLength = a.push(“three”);
// a == [“one”, “two”, “three”];

// newLength ==

newLength = a.push(“four”, “five”)

// a == [“one”, “two”, “three”, “four”,
“five”];

// newlLength ==



MeToa concat

vara =[1, 2];

var b = ["one”, “two’];
var ¢ = a.concat(b);

//C:: [1, 2, ”One”, ”tWO”]
c = b.concat(a);

/lc==["one”, "two”, 1, 2]




MeToa concat

var a = [1, 2];
var b [3, 4],
var ¢ = [5, 6];
var d = a.concat(b, c);

//d == [1, 2, 3, 4, 5, 6]



MeToa concat

var a = [1, 2];

var b a.concat (3, 4, 5);
//b == [1, 2, 3, 4, 5]



MeToa concat

var a = [1, 2];
var b a.concat (3, [4, 5], 6);
//b == [1, 2, 3, 4, 5, 6]



MIHBepTUpoBaHMe MmaccuBa

vara =11, 2, 3, 4, 5];
a.reverse();
[la==15,4, 3, 2, 1]



O0BbekT Math



MeTtoabl oobekTa Math

MeTton OnucaHue
Math.abs(x) Mogaynb yncna X
Math.acos(x) APKKOCMHYC Yncna x
Math.asin(x) ApPKCHHYC 4ymcna x
Math.atan(x) ApKTaHreHc yncna x
Math.sin(x) CuHyC Yyncna X
Math.cos(x) KocunHyc vucna x
Math.tan(x) TaHreHc 4ucna x
Math.exp(x) e*




MeTtoabl oobekTa Math

MeTon OnucaHue

Math.min(x1, x2,...) |MnHumym n3 aprymeHToB

Math.max(x1, x2,...) |Makcumym n3 apryMmeHToB

Math.pow(Xx, y) xY

Math.round(x) OKpyrneHue 4yncna x oo
ornvxxanwero uenoro

Math.floor(x) OkpyrrneHue 4Y1ucna x oo
onuxxanwero MeHbLLUEero uenoro

Math.ceil(x) OkpyrneHue yncna x oo

onvxanwero donbLUero Luenoro




MeTtoabl oobekTa Math

MeTtona OnucaHue

Math.random() Cny4aunHoe 4mcno ot 0 go 1
Math.sqrt(x) KBagpaTHbIM KOpeHb OT Yncna X
Math.log(x) HaTypanbHbIX fiorapndm vymcna X




Ceoucrtea oovbekta Math

MeTon OnucaHue
Math.E OKCcrnoHeHTa (NpumepHo 2.718)
Math.PI Uncno MNu (3.141592653589793)

|/| apyrme maremMmatn4eckme KOHCTaHTbl




